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CDhP
1. “Natural development of inherited physical and
mental traits” is
1. Development
2. Growth
3. Learning
4. Maturity

‘wry eufluims euhsd 2 L 6V LMHMILD LOGTLD FTilhdb
LiewTLHefledt @uievLimesr LpedTGeTMMID’ 6T63TLIS 60T

GlLIm (w6

1. (LpeTGeITHMLD
2. euemigd

3. HMHM6V

4. pIliFd mlewev



The personality theory proposed by Erickson

1. Psycho-sexual development
2 Psycho-social development
3. Human development

4 Cognitive development
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Structuralists followed and developed the following method in
study of Psychology

1. Introspection

2 Observation

3. Experimental

4 Case study
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Age of ‘Manhood’ is

1. Puberty stage

2 Later childhood stage
3. Adolescence stage

4 Middle age stage

' QY GITEHLD BleW6V’ QUG

1. LI(hH6ULDEDL_UW|LD [HleweV
2. Uler Lilsitemerts Li(heuid
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Piaget’s stage in which children perceive ‘reality’

1. Sensory motor stage

2 Pre-operational stage

3. Concrete operational stage
4 Formal operational stage
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The Author of ‘Democracy and Education’
1. John Dewey

2 Clifford Beers

3. J. B. Watson
4

Rousseau

‘waaserrl_Fuyidb Hevaiujd’ (Democracy and Education)
6T6OTeWILD [HTeWeV @) urm mluteu i
1. eorest (Hull

2. &leflooGumil 1Fiew
3.  Gem.ul.eurl sesr

4.  enGaFr

The theory of intelligence proposed by Spearman is
1. Uni factor theory

2 Two factor theory

3. Multi factor theory

4 Group factor theory
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Author of the book ‘Emile’

1. Rousseau

2 J.B. Watson
3. Montessori
4 Wundt

‘6TL160]" 6T6OTEYILD HITEW6V () wim M uteu
1. eH@FT

2. Go.l.eurl et

3.  wmewrgGFmi]

4, DATGHITL_

T.A.T. refers to

T.AT. @ewgd &ML BHID

1. Thematic Aptitude Test
Thematic Apperception Test

2
3. Thematic Attitude Test
4 Thematic Ability Test



10.

1.

The most Common thinking nature among ‘Adolescence’

1.

2
3.
4

Concrete
Abstract
Fantasy

Divergent

GLILILHeUGSDHleL  Glumburab  GluTgieursd

HTeTLILI(HILD Fbaewevt

1

2
3.
4

LmLIGLT (meiT
& (hd S] LI 6V
&M LI6M 60T

aflfeurss

The sequence required for remembering

1.
2.
3.
4.

Retention, Encoding, Retrieval
Retrieval, Encoding, Retention
Encoding, Retrieval, Retention

Encoding, Retention, Retrieval

(516D 6VT Y T[T H VIS F CHeWeUWITevT 6uiflewF

1.

2.
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“Motivation is an inclination to action with some degree of
direction” defined by

1. Guilford
2 Fisher

3. Atkinson
4 Mclver

‘DG HID 6T6ITLIG 2 &GeUbGHHIL 6T sp(h GlFwiemev
Chrédl bsemm &L euflssri L LiL@eug)”
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4.  Olwd geur

Verbal memory is related to
1. Enactive method

2 Iconic method

3. Symbolic method
4

Intuitive thinking

umiGlomi) plewesrey @)BHew)IL 65T CIGTL_TL|eHL WG]
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3. GOl ypep
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15.

Abraham Maslow explained theory of motivation in the
perspective of

1.

2
3.
4

Interests
Needs
Awards

Punishments

SUITsTD Tew@eVT 201dhahd: G&HTL LML 1 enesT

@)hs ChTHHdS CHrentdHdlev allerTdhdslesrmi

1.

2.

3.

4.

ol (HLILIBIGE 6T
CHemeus6iT
Lfl g 6T

5 6007 L_63) 63T & 61T

“Psychology is the study of behaviour” defined by

b=

Crow & Crow
Woodworth
Skinner

Watson

‘BLGWSm WL PP putey OFiIeCsh 2 erailuie)’
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17.

The unfolding of innate abilities and capacities is

1.

2
3.
4

Growth
Development
Maturity

Critical change

SfBUTL LD 2 6TEhewMbEHI HTeRTLLIBHID QfDHM6V

LMHMID BneTHer GleuaflliLi(heugi

1.

2.

@

‘The constant drive of motivation towards the aim’

b=

OV g2
(LpesT@eTMHM LD
WpSITEF Blewsv

2 _iwplemey LOTMHMLD

Interest
Attitude
Appreciation
Value
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This 1s measured with the help of intelligent scale

1. IQ
Mental Age

2
3. Real Age
4

Level of aspiration
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The Psychologist who said that ‘any learning topic can be
taught to an individual at any age in any form’ is

1. Bandura
2. Skinner
3. Thorndike
4. Bruner

‘@ Hesfl BLBHBE 6Thsd SMMEL GLIT(HeweTu|Lb,
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21.

If the mean, median and the mode are all equal, such a
symmetrical curve is called

1.

2
3.
4

Histogram
Frequency Polygon
Cumulative Frequency

Normal Probability

FrmFf], QewL_Blewev, poHH )5 weummlesr
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Digital locker was launched in

'@eVdha LUTHISTOLY ULl L 1D OGTL_Bisliu’ L

245007 ()

1. 2014
2. 2015
3. 2016
4. 2017
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23.

Identifying ‘mother’ among family members is a

1.

Perceptual learning

2 Discrimination learning

3. Verbal learning

4 Conceptual learning

&ML 2 _mitileriseaflenr Gwi HTemUl
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The curriculum structure prescribed by NEP — 2020 is

NEP - 2020 gfjleymishdlut HemeVdbsll L SewLoLiL]

.

5+3+4+3
4+3+5+4
5+3+3+4
3+5+3+4
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25.

The term ‘Gestalt’ belongs to this language

1. French

2 German

3. Russian

4 Japanese

Qs TVl eTeaTend OlFTsL @) mLfluyL_6sr
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1. NG repar

2. Oleiwresflu

3. TeG U
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One of the following is not a computer virus

1.
2.
3.
4.

Trojan Horse
Time bomb
File destroyer

Freeware

& 1pHeTL_uMMI6L &ewflesf] emeuTen VLT HI|

1.

2.

L Grregesr ammiren
6WL_LD LIMTLD
emLis) O e _gmuwim
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27.

‘Alexia’ is a

1 writing disability

2 reading disability

3. arithmatic disability

4 attention disorder

9 ClVSFWIT 6TOTLIL| 63 (1
1. 6T(LPHIHV &emMUT(h
2. UL HDH6V GemmUT(h
3. swilgd Gmour

4. Heuerd FHmev

According to Piaget, the stage of concrete operations in
children’s development occurs between the age of

1. 0 to 7 years

2 Birth to 2 years

3. 2 to 7 years

4 7 to 11 years
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29.

As per weightage table marks allotted to ‘project works’ in
Formative Assessment

FHLGLeRT  RFHISHEL (B S|L_L_auenewnTLiLlg,

QeI (T Hlew eV LGIILTL 19 60 GlFWeVSIL L LI
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1. 10

2. 20

3. 25

4. 15

One of the following does not belongs to “Learner Centered
Approach”

1. Children discussions

2 Teacher being a facilitator

3. Lecturing by teacher

4 Learning by doing
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30.

“Learning should be in congruence with the nature of student”
said by

1. John Dewey
2. John Holt

3. Rousseau

4. Herbart
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61.

62.

63.

64.

APTET — Paper- I1A — 2022
English

Choose the discourse we use to write personal reflections on
the event or a person.

1.
2
3.
4

A few books on this subject

a description
a diary entry
a letter

a news report

by next year by me.

Choose the part of the sentence that fits the blank.

1.

2
3.
4

will have be written
would be written
will be writing

will have been written

the 6 o’ clock train.

Choose the option to complete the sentence.

1.

2
3.
4

Usually I caught
[ usually catch
I catch usually

Usually catch I

May I have a word with you, sir?

Choose the option that the sentence above indicates.

1.

2
3.
4

giving permission
taking permission
giving an order

offering help



65.

66.

67.

68.

man is a social animal.

Choose the option that fits the blank.

l.

2.
3.
4

A
An
The

No article is needed

You wouldn’t like to invite my father,

Choose the correct question tag.

l.

2
3.
4

won’t you?
would you?
do you?

didn’t you?

Choose the prefix that means self or same.

1.

2
3.
4

dis-
anti-
co-

auto-

Choose the alphabetical order of these words.

.

topsoil, topical, torture, tortoise
tortoise, torture, topical, topsoil
topical, topsoil, tortoise, torture
topsoil, topical, tortoise, torture

torture , topical, topsoil, tortoise



69.

70.

71.

72.

Choose the word with wrong spelling.
1. opressor

2 prisoner
3. prejudice
4

attorney

Choose the word that can’t begin with a capital letter.
1. National

2 Krishna
3. Kurnool
4

Srisailam

My wife was inconsolable.

Choose the synonym of ‘inconsolable’.

1. dejected
2. happy

3. elated

4 excited

He will never succeed mainly because he has to know how to
speak to animals.

Choose the antonym of the word ‘succeed’.
1. pretend

2 snatch

3. forfeit

4 distinguish



73.

74.

75.

76.

He asked me , “Where does your sister live?”

Choose the indirect speech of the sentence.

1. He asked me where my sister is living.
2. He asked me where my sister lived.

3. He asked me whether my sister lived.
4 He asked if my sister is living.

Very few singers were Ghantasala.

Choose the correct expression to fill in the blank.

1. the most popular

2 so popular than

3. as popular as

4 as best as

I can’t go any further. I on that bench for a while.

Choose the verb that fits the blank.

1. had to sit

2 am going to sit

3. had sit

4 was sat

After you another 50 metres, you will see a

path to your left.
Choose the verb that can be used to fill in the blank.

l.

2
3.
4

will be gone
will go

g0

had gone



77.

78.

79.

80.

If you carry on spending money like this, you will

end up in debt.

In this sentence , ‘carry on’ means
1. get well

2 earn

3. start

4 continue

My uncle liked his former place.

Choose the complex sentence of the above.

1. The former place belongs to my uncle.

2 My uncle liked the place where he lived formerly.
3. The former lived along with my uncle.

4 He is my uncle whose place is liked.

The truck came towards them the bridge.

Choose the word that fits the blank.

l. during

2. across

3. among

4 besides

Her head was level of the counter and the shop

assistant didn’t notice her.

Choose the word that fits the blank.

l.

2
3.
4

below
over
above

acCross



81.

82.

83.

84.

The match got cancelled heavy rain.

Choose the linker that fits the blank.
1. therefore

2 hence
3. due to
4 thus

All her other daughters are engineers
choose to be a teacher.

Choose the linker that fits the blank.
1. where as

2 therefore
3. SO

4 thus

Choose the grammatically correct sentence.

1. We should not make a noise.

2 I am having a car.

3. I am done my homework just now.
4 I have did this two months ago.

It is the temple where religious rites celebrated

as they were for centuries.

the younger one

Choose the option that can replace the underlined part.

1. as they have been for
2 so were they for

3. as they are for
4

as they were before



5.

86.

87.

88.

Choose the sentence that has a possessive adjective.
1. Sudha is a good girl.

2 Sudha won many awards.

3. Sudha designed her career.

4 Sudha got three prizes.

Choose the sentence that has a quantitative adjective.
1. Gold rings are expensive.

2 She is helpful.

3. Madam is kind.
4

I have a little knowledge about robotics.

Could you please guide me to the library?
This sentence indicates

l. past ability

2 ability

3. request

4 slight possibility

One lakh rupees a lot of money.

Choose the verb that fits the blank.

1. 1S

2 are

3. have to
4 1s had



89.

90.

Read the following passage.

Plants are gifts of nature. Plants give us food. We get fresh air
from plants. Plants absorb carbon dioxide and release oxygen
which we breathe in. The roots of big plants hold the soil and
prevent soil erosion.

The following prevents soil erosion.

1.

2
3.
4

the gifts of nature
the oxygen released by plants
the roots holding the soil

the air we breathe in

Read the following passage.

Plants are gifts of nature. Plants give us food. We get fresh air
from plants. Plants absorb carbon dioxide and release oxygen

which we breathe in. The roots of big plants hold the soil and

prevent soil erosion.

This passage is about

b=

the life cycle of a plant
importance of carbon dioxide
the gifts of god

the uses of plants



91.

APTET — Paper- 11 A — 2022

MATHEMATICS

A person travelled in a car first 160 km. at a speed of 64
km/hr. and next 160 km at the speed of 80 km/hr. Average
speed of total journey is

1. 30.55 km/hr
2. 36 km/hr
3. 71.11 km/hr
4 71 km/hr

2 (Ih BLIT &Tlev pHev 160 H.15. SHTTHWS
64 .16/ wewfl Ceussglavid MBS 160 &l.10.5TTHemS5
80 F.i6/ wewfl Ceousdhdlepid  LwewllHHTi  6Tevfl6L

Qurss Lwent Frref Gausid
1. 30.55 &.16/ wewst]

2. 36 &).5/ ewh

3. 71.11 &)..6/ esst)

4. 71 &).8/ e



92.

93.

94.

Length of the shadow of 15 meters pole is 53 m. at
7 O’ Clock in the morning then the angle of elevation of sun
rays with ground at that time is

&TeweV 7 wewfld@ 15 WL L FHsT 2 wrih GlsmesrL
HbLgH e Blipsdlsst Farid 543 1L iasem stefled B
Crraaley @Giflw sgliser Lbluj et segHLI(HSSGILD
6T M G TevvTLD

1. 30°
2. 60°
3. 90°
4. 180°

Simplify Sec A (1 —Sin A) (Sec A + Tan A)
F(HSBGH%. Sec A (1 —Sin A) (Sec A + Tan A)
1. 0

el A
I
LR

If Cos 7A = Sin (A — 6°), 7A < 90° then A =
Cos 7A = Sin (A — 6°), 7A < 90° sTesfled A =

1. 10°
2. 25°
3. 12°
4. 30°



95.

96.

In APQR ZQ =90° PQ =3cm and PR = 6 cm then ZQPR =
APQR 60 ZQ =90° PQ =3 Q&.16. oHmitb PR = 6 GlF.L6

6Tesflev ZQPR =
1 30°
2 60°
3. 45°
4 55°

One side of an open cylindrical drum has inner radius 28 m.
and height 2.1m, then the volume of water that can store in the
drum in liters

Q@ UHSHLD LR  FSnhHgleTar 2 (Hewer ellgel
GClaTeiTH V6Tl 2 6Ty rid 28 L6. HmIb 2 wigib 2.1 6.

6T6v160 & 0lIBTETH6VL Blrliidhdniquwi b ilesT SHevr

ojerey (0L _raeflsv)

b=

5174.4
5164.4
5175.5
5165.5



97.

98.

If the surface area of the sphere is 154cm? then its radius

1.

2
3.
4

4 cm.
4.5 cm.
3 cm.

3.5 cm.

@@ Carearggler Umsseri urlivere) 154 #.61&..6.

6T6UT160 9| H6dT ) TLD
1. 4 OF.6.

2. 45 OF..6.

3. 3 Q&.16.

4. 3.5 Q&.16.

D, E, F are the midpoints of AB, BC, and CA of AABC
respectively, then the ratio of AABC : ADEF is

AABC e, D,E,F eroorusmen wpsmmuwirs AB, BC

wmmib CA et ewwwliysiteflssi eTevflsv AABC : ADEF

S ENEIE N
1 4:1
2. 3:1
3. 1:3
4. 1:4



99.

100.

101.

In a circle Z?, BD are two chords intersecting at ‘O’ and
ZAOB = 100° then ZAOD =

D aul_LgHsd, AC, BD steyiid preinraer ‘O’ 6

GlouL 195 Glameirslermenr GLospitd ZAOB = 100° er6vfl6D
ZAOD =

1. 100°
2 80°
3. 40°
4 50°

Number of common tangents that can be drawn for two
intersecting circles

@) revst(h GleuL 19 &6l&T6iT(EMH LD QUL_L_BISHEHS S,
QUG T L5 Fon LG U uITg) AEOCEICOED s
6T 6307 630115 6 55

1. 1

2. 2
3. 3
4, 4

Valueof(\/ﬁ—\ﬁ) (\/ﬁ+\/7)is
(\/ﬁ—ﬁ) (\/ﬁ+\/7) 63T Lo 1L

Sl A e
N W A W



102.

103.

If the 5 ™ part of a number is 36 more to the . ™ part of that

number, then the number is
T 6T6VOT6¥0T] 63T 5 LTSI, O|bd 6T6HOTEEs 63T
LUT&SSm alll_ 36 9P H1D 6Tevfl6L b 6T6vOT

1. 240
2. 140
3. 220
4. 120

A Company increases its sales value by 35% on its present
sales of Rs. 98,700/- then the sales expected value is

1. Rs. 2,33,245/-

2. Rs. 1,33,245/-

3. Rs. 1,35,250/-

4. Rs. 5,45,235/-

2 (Ih b MI6U VT LD TEOT G BV G| SHELTeNS W
allhuswersafler ClrsHs m. 98,700/- &1 1hg 35%
9Bl fdasg). 6Tesfley eTHTLUTTESLILBGD  aibhLenesT
L&y

. em.2,33,245/-

2. m. 1,33,245/-
3. om. 1,35,250/-
4. om. 545,235/



104.

105.

w=1{1,2,3,4,5,6,7,8,9, 10}
A=1{1,2,3,4,56},B=1{2,5 6} then A'=
n=1{1,2,3,4,56,7,8,9, 10}
A=1{1,2,3,4,5,6},B=1{2,5, 6 sraflev A'=

1.

2
3.
4

u
A

{7,8,9,10}
{2,5,6}

The value taken on x - axis of frequency polygons is

.

Class mid value
Lower limit
Upper limit

Frequency

Bl LpOleUss T LIVEHTERTH SV X- HFF 6T LK 6T(HHHIb

Gl TeiTar LD LFiL

1.

2.

3.

4.

ou@ LNt ewiow Loy
E1Lp 6T6VEMEV

GLpsv 6TEVEMEY

15135 Lp G 621 6307



106. In APQR ZR =90° PQ =29 units QR= 2 units and
ZPQR = 0 then Cos°0 + Sin’0 =

APQR v ZR =90°, PQ =29 9v0@&&6iT, QR=2 960G 6T,
Gugyiis /PQR =0 sresflsv Cos 0 + Sin’0 =

L1
4L
841

3.0
29
41

107. In an arithmetic progression / =28, S= 144, n =9 then a =

Q2 Il (Hd Olgmiflsv [= 28, S =144, wpHmyb n = 9

6Tedl6V a =
1 1
2 2
3 3
4. 4

108.  Simplify (9x*+ 4y*) 3x +2y) (3x — 2y)
FMmBGHH (9" +4y%) Bx +2p) BGx —2y)
1. &*'+16/
2 27x* — 649"
3. 8lx*+16)
4 81x*— 16"



109.

110.

I11.

... 63x:/6]
Simplify W

2

. 63 x3/6
8?@85@65 T
1 6
2 36
3. 216
po

6

If x= 3, y =2 is solution of the equation 5x — 7y = k then value
of k

x =3 wpmib y = 2 erestuiemeu 5x — 7y = k eTedim
FLOGTLITL_1g 63T & T6Y 6T 6T6v 60 Kk 687 LogliiLy

3

b=

2
1
0

The points A(6,1), B(8,2), C(9,4) and D (p,3) are the vertices
of a parallelogram taken in order then the value of p

A(6,1), B(8,2), C(9,4) wpmib D (p,3) stemid Lemeflseir
suflenFpemmulled ewLobHLH B)eWeWTHT SHBl6T 2 FFlase6ir
6TevflsL  p 6dT LFILILY

1. 7
2. 9
3. 11
4. 13



112.

113.

Slope of the line segment joining the point

1 1
A(-3—,3), B(-7,2=
(=33.3), B(=7.27)

A(—3%, 3) wmmib B(-7, 2%) 6TWILD LjsiTarTEemer

@)ewentd @b CahmL(hd3I68TIq 65T FT iy

L1
3
2. 2
3
3. L
7
4. 2
7

If a dice is thrown once, then the probability of getting a
number lying between 2 and 5

(1 LISewL_ 6w @(H(LpswM 2 (HL (Hib CLmrg)
2 WHV 5 @ @)ewLulley|siTer sTesTH 6T

SWL_LILIGNSTET 5% LPHH6Y
L
2
2. 1
3, L
3
s 2
3



114. If ‘E’ is an event then
‘B’ et6dTLIg) p(H BIHLpFF eT6vfl6V,
1. P(E)+P(E)=1
2 P(E)+P(E)=0
3. P(E)+P(E)=-1
4 P(E)+P(E)=2



MATHS - METHODOLOGY

115. The following will be achieved in the long time
1. Objectives
2. Aims
3. Specifications

4. Academic Standards

FPHHTLUDMIV  RPSTEHM WL W HFH|H  HTeVLD
& LD.

1. GH M5B TeiTH 6T

2. @1 T B 6T

3. FApliy CBTs s nhisk6T

4. &6V & 5 I MBI % 6T

116. Teaching — Re-teaching cycle is
1. Analytical method
2. Project method
3. Micro teaching
4. Teacher centered method
&DHLNGH6V - 1M&DLIGHD FIpMHF eTedTLIS)
1. LUGUUTII®| (LpemMD
2. ClFWsLHIL L (pewm
3. B16WTHlew6V &MLl 560
4. S Fflwir ewowr pewm



117.

118.

Most reliable questions are

1. Objective type questions
2 Oral questions

3. Essay questions
4

Short answers
OB BLOLIGH H6TewLD 6l&HTevTL al6vTTd: 6T
1. Lev Cgifley allermdgsir
2. UTIGILoTL] elledTT & 56T
3. &L_(hew T aileorTdaer

4. FAmi aflevTTd 60T

It is not characteristic of good mathematics textbook
1. Content

2. Language

3. Exercises

4. without diagrams

2m  Fpps sy USssSlaT  GewTTSlFWD
éisbsvrrg,g,j

1. umL LGl siT
2. Glomi]
3. Ll m s eir

4. LIL_BI&6T (9)6V6eVT L1060 (1 d5 %6V



119. Principle of project method

120.

1.
2.
3.
4,

Learning by awareness
Learning by doing
Learning by creativity

Learning by intuitive

OCFweVHL L pewmuiledr &dhgieLd

1.

2.

»

el LPILIL)ewTiT6Y & MH M6V
ClF iG] HMHM6V
§AESSIDET HHDE

o _6ITEHEIITTR| &MM6V

Use of teaching learning material in learning

1.

2.
3.
4

Reinforcement
Completion of syllabus in time
Easy classroom management

Augment in discipline

&MHMeOle, HMLIGHH6V HMM6L & (Hallseaflesr LiwiesTiIm ()

1.

2.

QusYIQyL L LD

UTL $FI L Sens &6V O UBTFSHS D 6T
1455

U@ LILIemM GLOGVTESTERLOEH UL 6T6I6W LOWIT 5 61T

QR(PHHHI 6T L6 51 alleursLd



APTET — Paper- 11 A — 2022

Physics
121. Average speed =
1. .
Time
2. .
Time taken
Velocity

Travel Distance
Speed

Frram Geusid =

@)L Li6luwigs
1.
S TEVULD
Lwewfldhs Olomdsd HTTLD
2.
T(HHHIH OlHTEWTL &T6eVLD
@)L LiIGLwiTEH
3.
HlewFGeuss LD
&L Hhd ©lgTemevey
4,

EHYEIN



122. Inertia of a body directly depends on its

1. mass

2 velocity
3. area

4 volume

sp(h Glummefledr mlewsvwid ChriguwiTs @)ser LG

SSTILLIL(HeTarS)
1. ®mlewm

2.  glewsFGeusid
3.  wurly

4. &H 60T 9|61T6)Y]

123.  Hydraulic jacks working on the principle of

1. Archimedes
2. Boyle
3. Pascal

4. Newton

B lwed LEhHTHEE Cauemev GIFUIWLD S gI6eLD
1. 9, T 351L0]1g 67V

2. wumruilsv

3. LIT6rV& 6V

4.  mlupl' L 6T



124.

125.

Expand SONAR
SONAR e1erLIg 68T 6xilifleumdsasLd

Solar Navigation And Ranging
Solar Navigation And Roaming

Sound Navigation And Roaming

e

Sound Navigation And Ranging

The image formed by a concave mirror is real, inverted
and of the same size as that of the object, then the position of
object is

1. at the focus

2 beyond the centre of curvature

3. between centre of curvature and focus
4 at the centre of curvature

Gy opguilermey  Capmermip  Libud, G,

SHWVHLD LOHMID HCH eTey HleWL &SN
6T6v1160, GlLIT(HefledT Blewev eTedT6wT ?

1. Gallwgzlev
2. QUMETEY sWLDWIGHSIM G LILIT6V
3.  euemerey swwsHI M@ @)ewL_uilev

4. QUMETE EWMLDIIGEI6V



126. The reason behind the blue colour of the sky is
1. Scattering of light
2 Dispersion of light
3. Refraction of light
4 Reflection of light

QUTETLD HeV BIMSHS6V @) (HLILISDETEVT & T T 6wTLD
1. spaiflFFHmev

2. safluller Blpliilflens
3.  opafluiletr sperflailevsssv
4.  ospafluflesr e18GrmeafliiL

127.  One unit of electric power consumption means

1. 1 Joul
2 1 watt
3. 1 KWH
4 1 A

ledTearrmmeL LiwiedTLmL g6V ‘1 upesfll’’ eTedTLIG)

1. 1 2096V
2. 1 sumre_
3. 1 KWH

4. 1A



128.

129.

The distractive earthquake have magnitudes more than
on the Richter scale

asl6luflu olemeu allswearalld @b
BleVBHEBSHBISET MELT Hereay@sredlsy e
il o5& eTewdT LGl L1IewLILT ©LIm)| 56T m6vT

1. 3.0
2. 4.0
3. 7.0
4. 2.0

Statement — I Air is a homogeneous mixture

Statement — II The components of air can be separated by
fractional distillation

1. Both the statements are true

2 Statement — I is true, Statement — II is false
3. Statement — I is false, Statement — 11 is true
4 Both are false

Fpml - 1 STOMI @) RHLILGSDHTET H6V6w6M

Fmpm - I srmPler LEGHelurmLsewer LilssTesrd
HTUIFF] 619 &6V (Lpswmuilev
MIEAOEACEEANNOE L]

1. Qe dmmmis e Fifl

2. Fmpml - L&Ff, gpm - I Heum)

3. Fmpml - 1Heum, smpm - 1 Fil

4.  @rent(h) I DHMISHEHLD HeUM)



130. The Word “Element” is introduced by
1. Lavoisier
2 Robert Boyle
3. Henning Brand
4 Tindall

‘Besfloib’ 6TenId GlFTeVeML M (P& LILI(h &S weu
1. sV mIFwir

2. @rruil urufé

3. Qamerefn LT

4. 19-600TL_T6V

131. This does not belong to 4R’s

1. Reduce

2. Reuse

3. Recognise
4. Recover

FH1pHBTL_uMMlV 4R —6v GlHTLMLileveVTSH G|
L &®DSH6V

2. wml LweTum(h

3. O|WL_WITETLD &IT )] H6V

4. et ClLIMISH6V



132. The units of calorific value in S.I. system

S.I pewmuilev Gsvrifl wgliLleT 6V E,

l.

2
3.
4

kj/kg

K cal / g-m
cal/g-°C
J/Kg-K



133.

134.

Biology

The word vaccine is coined from a Latin word ‘Vaca’ which
means

1. Rat

2. Cow
3. Sheep
4 Horse

@evgFer  Gurlulledmbgh 2 (HeuTer  GlFTL
‘oursdler.  Qevugder  Gmifluiley  ‘eurdasr

6T63T D T 6V

1. 6160

2. Ligr

3. Gyl @
4. @For

In Chloroplast the site for trapping solar energy

1. Stroma

2 Membrane

3. Lipid globules
4 Grana

GTWFED] LIgBISewTlEsHIleVi6Ter Q) hal Ligdlullsv
LAl A AR F

1 eV G@rmiom

2 FeUS)

3. Oarupliy @Lllser

4

FrmesTm



135.

136.

Vascular tissue that helps in the transportation of food material

in the plant

1. Xylem

2. Chlorenchyma
3. Phloem

4. Storage tissue

SToUrmbiGeflsy 2 ewiayll OlUTHL Sewer &L Gb

2 $eiD Slo

1 EMFVLD

2 &HCATTT6TeWa DT
3.  ocoyGearmwib

4 Gaudlliy FlFd 6T

The amount of calories of energy released by each ATP
molecule is (in calories)

sp6uGleum(p ATP cpsvdhammisEn GleuaflGuwmmiid

MHMeV &Ceurifl gerey (&CsvTilseaflev)

.

7200
2700
4500
5400



137.

138.

The part of brain which maintains posture and equilibrium is

1. Cerebrum

2 Cerebellum

3. Medulla Oblongata
4 Diencephalon

cpsweruiledr (PbH LITHD, 2 L w6V BlewsVbmisHs)
FLOBIEWEV TS 69 6UGH|6TET S|

1. GlLI(HepemerT

2 Fmiepemer

3. (PE&HETLD

4 eWL_WI6dT (GlFLIsV6dT

The valve present at the origin of systemic aorta is called

1. Pulmonary valve
2. Systemic valve
3. Bicuspid valve
4. Tricuspid valve

&HTHesT]  CHrearmiflLSFHV Y ewLoH6iTer
QUTEV6)

1 BIewTufTeL suTeLe)]

2 LD T SHLO6TT] 6UTEV6Y

3.  FMHLp eurevey

4 epailgLp eumrsvey



139. Islets of Langerhans are the cells of

1. Lungs

2. Brain

3. Pancreas
4. Heart

UTHBIST  anTerteV Sl (HHHeT,  eummlev
SHTeRTLILI(HILD G1F6V 6T

1. miewrufrsv

2 cLp e IT
3. 3565 600T LI LD
4 (3®)awib

140. Among the following learned behaviour is
1. Instinct
2. Imprinting
3. Conditioning
4. Imitation
F1pHHMTL UMMl  HHMedledT  eLpsld  JMHLI(HILD
BLEDS
1. Umeils @ ewrid
2 LIS W 696156V
3.  BlUbSWEdTEH L LI(H%6V
4 Lerumm)sev



141.

142.

The word used for ‘Far sightedness’

1.

2
3.
4

Myopia
Xeropthalmia
Hyper metropia

Glaucoma

‘glrmuu;rr'ransu’— &@ LWeTUBHSSLILIBLD UTTSHenD

1

2
3.
4

e GuimodLiluim
eOlGrmiig mevLdlwm
swan LT 6wl GrmesLilum

Gl

This is not an Invasive weed that threatens existence of native
species among the following

l.

2
3.
4

Carrot grass
Water hyacinth
Spanish flag

Amaranthus

2 eTeelhT  STeUr  FADMlTBmIGEHSE LTSI
THUBSSHID Coumm) ST HeWOTHSHTUTLD

I[VVTHG]

1 STOTL &Slymew

2 BTG HTLOEHT
3.  ewumreflew Llermd
4 CHTL L G& Hewr



143. Four chambered heart is seen in this animal

1. Fish

2. Frog

3. Crocodile

4. Snake

BTEOTE ewmaH6eT 6lesrewr @Huid Geumnmlsv
HTeRTLILI(HS MG

1. LB 651

2 SH6UHET

3. (LPFH 66V

4 LITiDLy

144. Example for Biofuel
1. Coal
2 Petroleum
3. Jatropha
4

Kerosene

2 ulliflw etMEILIT (HEHSHE 2 & TTewTLD

1. Blevd ]

2 O’ Grmedluiib
3. HTL_L_TLDE3IT S (S,
4 &G mdlesr



145.

146.

BIO Methodology

An example for “exhibits” in Edger Dale’s Cone of
Experiences:

1. Broadcasting by National Geography Channel
2. Pet Animals Show

3. Visit to milk cold storage unit

4. Listening to environmental protection in Radio

6T &I GLev 9| 89| L1611 35 61f] 63T Fn LDLI6V

ST FEHEeHdH G @ 6T(HDHSHIHHTL (b

1. GCapFw Heilullwiev S|emeveuflemauilev
spefLITLIL &6V

2. eueriliy ellevsigsefleir &L

3. urewew Geaflials@Hl DWWSGDHDH & TewTF
GlF6VEY| B 6V

4. surGlerredluiley  HOHmILILD UTGISTLIEHLIL
umm] CaL L6V

This does not belong to mechanical features of textbook
1. Size

2. Printing

3. Glossary

4. Paper quality

urTL_Bredlest Fmbs LiedTLSeMe0 @uibhSlris LiesTLy
VT HG]

1 9| 6T6)

2 9| FF (g 6V

3. OlFrmserehFluid

4 HTHBHDH HTLD



147. A student who has scored 70 marks in biology test indicates

1. Measurement
2. Test
3. Evaluation

4. Achieving the goal
sp(f LomesTeuet 2 _ullflwsv Ggiallsy 70 Lol i6)LIevsT

CummeTaTTET 6T6dTM) GG MailliILIg)

L. 9|61 % 56V

2. Gargewerr

3. YNNI

4 Q@G FlemaT 9jemL 6V



Physics Methodology

148. One of the following is not the objectives of psychomotor

domain

l. Manipulation
2 Imitation

3. Precision

4 Organisation

2 61T QdHEd HeTdHS 6 Hevall GhTdhdHLO6V6VTHI]
6985 LI IT (615 & 6V

GuTevF GlFiIg 6V

Hl6Ve0lWld &H6dTEWLD

62 (HBISHEDLDH S 6V

= P b=



149. “To learn science is to do science. There is no other way of
learning science.” The statement given by

1. Mahatma Gandhi
Dr. D. S. Kothari
Hunter

Carl Anderson
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150. The present Physical Science Textbooks are energizing
through ICT with the following

1. Colour Pictures
2. Activities
3. Q.R. Codes

4. Lab Activities
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2.
3. Q.R. Codes
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